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1. Find the Slope of a line whose inclination to

the positive direction of X-axis is anticlockwise

sense is 45∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DllEySrtKqQ4


Watch Video Solution

2. Find the Slope of a line whose inclination to

the positive direction of X-axis is anticlockwise

sense is 

Watch Video Solution

135∘

3. Find the Slope of a line whose inclination to

the positive direction of X-axis is anticlockwise

sense is 120∘

https://dl.doubtnut.com/l/_DllEySrtKqQ4
https://dl.doubtnut.com/l/_m2xjcziPmbDp
https://dl.doubtnut.com/l/_5H2OSYr4Yd27


Watch Video Solution

4. Find the Slope of a line whose inclination to

the positive direction of X-axis is anticlockwise

sense is 

Watch Video Solution

3π

4

5. Find the Slope of a line whose inclination to

the positive direction of X-axis is anticlockwise

sense is 

Watch Video Solution

−
π

4

https://dl.doubtnut.com/l/_5H2OSYr4Yd27
https://dl.doubtnut.com/l/_3qovcSOoOOiC
https://dl.doubtnut.com/l/_Ltw2L1VQR0F7


6. What can be said about a straight line if its

slope is positive ?

Watch Video Solution

7. What can be said about a straight line if its

slope is negative ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ltw2L1VQR0F7
https://dl.doubtnut.com/l/_At2jzGshtuEw
https://dl.doubtnut.com/l/_6yVOieeoUKbj


8. What can be said about a straight line if its

slope is zero ?

Watch Video Solution

9. Find the slope of the line passing through

(3,-2) and (1,4)

Watch Video Solution

https://dl.doubtnut.com/l/_cUHTOixcWc6t
https://dl.doubtnut.com/l/_pNZlu69LmR1z


10. Find the slope of the line passing through

(3,2) and (4,5)

Watch Video Solution

11. Find the slope of the line passing through

(7,2) and (7,-5)

Watch Video Solution

https://dl.doubtnut.com/l/_A0LJ8gcjc1zZ
https://dl.doubtnut.com/l/_2JvQnU9W2IQX


12. Find the equation of the lines parallel to

axes and passing through (-3,4).

Watch Video Solution

13. Find the equation of the line cutting off an

intercept of length 2 from the negative

direction of the axis of y and making an angle

of  with the positive direction of X-axis.

Watch Video Solution

120∘

https://dl.doubtnut.com/l/_ziHKBis7AziK
https://dl.doubtnut.com/l/_grvV3Tdr7P23
https://dl.doubtnut.com/l/_Oph8DMBi5Tpl


14. Every first degree equation in x, y

represents a straight line.

Watch Video Solution

15. Find the equation of the line which passes

through the point (-4,3) with slope 1/2

Watch Video Solution

https://dl.doubtnut.com/l/_Oph8DMBi5Tpl
https://dl.doubtnut.com/l/_l1UWYnPwkkDk


16. Find the equation of the line which passes

through (-1,1) and (2,-4).

Watch Video Solution

17. Find the equation of the line, which makes

intercepts 4 and -5 on the X-axis and Y-axis

respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_tNnnemxzD8k1
https://dl.doubtnut.com/l/_JpNkSbybXaZX


18. Find the equation of the line whose

perpendicular distance from the origin is 5

units and the angle made by the

perpendicular with the positive X-axis is 

Watch Video Solution

30∘

19. Find the angle between the lines 7x-y = 1

and 6x-y = 11

Watch Video Solution

https://dl.doubtnut.com/l/_eA8dhcHnjRUd
https://dl.doubtnut.com/l/_bqmmVufylyiA
https://dl.doubtnut.com/l/_b6xVY45PtkUs


20. If the angle between two lines is  and

slopes of one of the lines is 1/2, find the slope

of the other line.

Watch Video Solution

π

4

21. Find the equation of a straight line, which

passes through the point (1,2) and which is

parallel to the straight line 2x+3y+6=0

Watch Video Solution

https://dl.doubtnut.com/l/_b6xVY45PtkUs
https://dl.doubtnut.com/l/_DMvi1Oaj8H3N
https://dl.doubtnut.com/l/_4wkhRkmDE1u7


22. Find the equation of a line which is

perpendicular to the line 4x+5y+2=0 and

passing through the point (-2,4)

Watch Video Solution

23. Find the perpendicular distance from the

point (2,3) from 2x+3y+4=0

View Text Solution

https://dl.doubtnut.com/l/_4wkhRkmDE1u7
https://dl.doubtnut.com/l/_aLrJmqhgkClU


24. Find the points on the X-axis whose

perpendicular distance from the line x/a+y/b=1

is a

Watch Video Solution

25. Find the distance between the parallel

lines 3x-4y+7=0 and 3x-4y+5=0

Watch Video Solution

https://dl.doubtnut.com/l/_JQDBb84RySbs
https://dl.doubtnut.com/l/_SfRMufXt2xuL


26. Find the equation of the line passing

through (-2,-3) and

parallel to x-axis

Watch Video Solution

27. Find the equation of the line passing

through (-2,-3) and

parallel to y-axis

Watch Video Solution

https://dl.doubtnut.com/l/_SmcQCEatwJhM
https://dl.doubtnut.com/l/_Uz10QDLV1fnW
https://dl.doubtnut.com/l/_41lOceiL9xbQ


28. Find the slope of a line which makes an

angle of

with the positive direction of Y-axis.

Watch Video Solution

45∘

29. Find the slope of a line which makes an

angle of

with the negative direction of X-axis.

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_41lOceiL9xbQ
https://dl.doubtnut.com/l/_hNcyMmdeKXPr
https://dl.doubtnut.com/l/_fnComNuji09q


30. Find the slope of a line joining the points

(2,-3) and (3,4)

Watch Video Solution

31. Find the slope and y-intercept of the line

whose equation is 3x-6y=12.

Watch Video Solution

32. Determine x so that the slope of the line

through the points (2,5) and (7, x) is 3.

https://dl.doubtnut.com/l/_fnComNuji09q
https://dl.doubtnut.com/l/_BMWy1CkarCmJ
https://dl.doubtnut.com/l/_MQ7agyWfjebK


Watch Video Solution

33. Find the slope of a line, which passes

through the origin and mid-point of the

segment joining the points P(0,-4) and B(8,0).

Watch Video Solution

34. Find the angle between the X-axis and the

line joining the points (3,-1)and(4,2).

Watch Video Solution

https://dl.doubtnut.com/l/_MQ7agyWfjebK
https://dl.doubtnut.com/l/_fpuFruat53Bh
https://dl.doubtnut.com/l/_Uvhk6bHnaRkV


35. If three points (h,0),(a,b)and(0,k)lie on a

line, show that a/h+b/k=1

Watch Video Solution

36. Find the equation of the line passing

through (3,-5) and perpendicular to the line

through the points (2,5) and (-3,6)

Watch Video Solution

https://dl.doubtnut.com/l/_Uvhk6bHnaRkV
https://dl.doubtnut.com/l/_GRvFlu1hW7BL
https://dl.doubtnut.com/l/_pH4V90XqTpdq
https://dl.doubtnut.com/l/_5CGjEWSjupLg


37. Find the equation of the line passing

through (0,2) making an angle  with the

positive X-axis. Also find the equation of the

line parallel to it and crossing the Y-axis at a

distance of two units below the origin.

Watch Video Solution

2π

3

38. Convert the following equation into

intercept forms and perpendicular

(normal)forms.

x − √3y + 8 = 0

https://dl.doubtnut.com/l/_5CGjEWSjupLg
https://dl.doubtnut.com/l/_nncdoyldp1ZL


Watch Video Solution

39. Convert the following equation into

intercept forms and perpendicular

(normal)forms.

y-2=0

Watch Video Solution

40. Convert the following equation into

intercept forms and perpendicular

https://dl.doubtnut.com/l/_nncdoyldp1ZL
https://dl.doubtnut.com/l/_ZW0Iik1gAlts
https://dl.doubtnut.com/l/_mVensiuYKTiL


(normal)forms.

3x-4y+10=0

Watch Video Solution

41. Convert the following equation into

intercept forms and perpendicular

(normal)forms.

x-y=4

Watch Video Solution

https://dl.doubtnut.com/l/_mVensiuYKTiL
https://dl.doubtnut.com/l/_VgqESLDRQ1Ue


42. Find the distance of the point (-1,1) from

the line 12(x+6)=5(y-2)

Watch Video Solution

43. Find the points on the X-axis, whose

distances from the line x/3+y/4=1 are 4 units.

Watch Video Solution

https://dl.doubtnut.com/l/_Rkzz9MmyxUDi
https://dl.doubtnut.com/l/_y8Uw6uTRpShJ


44. Find the equation of a line which passes

through the point (3,1) and bisects the portion

of the line 3x+4y=12 intercepted between

coordinate axes.

Watch Video Solution

45. Find the distances between parallel lines

2x+y-5=0 and 2x+y+2=0

Watch Video Solution

https://dl.doubtnut.com/l/_00Jan0BGNqaQ
https://dl.doubtnut.com/l/_OLkRyNtC1XhX
https://dl.doubtnut.com/l/_iVKK3uf1EcwQ


46. Find the distances between parallel lines

l(x+y)+p=0 and l(x+y)-r=0

Watch Video Solution

47. Find the equation of the straight line

which passes through the point (-1,0) and is

parallel to the straight line y=2x+3.

Watch Video Solution

https://dl.doubtnut.com/l/_iVKK3uf1EcwQ
https://dl.doubtnut.com/l/_2gI4yJOo6gwj


48. Find the equation of the straight line

which passes through the point (0,3) and is

perpendicular to the straight line x+y+1=0

Watch Video Solution

49. Find the equation of the the line which has

x-intercept -8 and is perpendicular to the line

x+4y-17=0.

Watch Video Solution

https://dl.doubtnut.com/l/_etUMPxDDmj4U
https://dl.doubtnut.com/l/_fvMTcK46OPEx
https://dl.doubtnut.com/l/_VbfvxsHhGCUt


50. Find the equation of the line whose y-

intercept is 2 and is parallel to the line x-

3y+7=0

Watch Video Solution

51. Prove that the equation of a straight line

passing through  and

perpendicular to the line

 is 

Watch Video Solution

(a cos2 θ, a sin2 θ)

x sec θ + y cos ecθ = a

x cos θ − y sin θ = a cos 2θ

https://dl.doubtnut.com/l/_VbfvxsHhGCUt
https://dl.doubtnut.com/l/_ZOFo1JR0CpNo


52. Find the points on the axis of Y whose

perpendicular distance from the straight line

4x+3y=12 is 4

Watch Video Solution

53. Find the angle between the lines 4x+y=3

and x/2+y=4/7

Watch Video Solution

https://dl.doubtnut.com/l/_ZOFo1JR0CpNo
https://dl.doubtnut.com/l/_jMAy0vC0vaFX
https://dl.doubtnut.com/l/_NICc1UtFmAYk
https://dl.doubtnut.com/l/_x8FHET9ySpQw


54. Find the equation of a line which passes

through the point (3,2) and cuts off positive

intercepts on X and Y axes in the ratio of 4:3.

Watch Video Solution

55. If p is the length of perpendicular from the

origin to the line whose intercepts on the axes

are a and b, then show that .

Watch Video Solution

= +
1

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_x8FHET9ySpQw
https://dl.doubtnut.com/l/_Bs54nKbEJUmj

